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Run 5777 quartetwise, Asyms0 (Raw): All

quartetwize_asymi

173080
1784
5.35%94a+05

Enlries
Mean
Sid Dav

I L1 |:»«1'I{iIﬁ

1
—250

—200

-150

-100

~-50

D

HelNSamples0)/|PosHelAccl/PosHelNSamplesd + NegHelAccO/NegHelNSamples0 - 26.010212})

35000

30000

25000

20000

15000

10000

5000

0

Run 5777 quartetwise, Asyms0 (Raw): Beam ON, Laser ON

guamstwisa baami las! asymi

: Erlries 2RA9T

[ Mean —7T25

[ Sid Dev  1.3952+06

I N T A N TN T N N TN T N T NN NN TN N N Y TN N N N TN MO M L= ﬂﬁ
—250 —200 —150 —100 —B0 0

HelNSamples0)/|FosHelAccl/PosHelNSamplesd + NegHelAccO/NegHelNSamplesD - 26.010212)

3000

2500

2000

1500

1000

500

0

Run 5777 quartetwise, Asyms0 (Raw): Beam OFF

quarebwise_bsamd asyrb

: Enlries 531585
[ Mean 0.0003619
— Sid Dav 1,708
_I | 1 1 I | | L1 1 | L1 1 I L1 1 I L1 1 | | I | | | L1 1 |

-8 -5 —4 — 0 2 4 6 B 10

HelNSamples0)/|PosHelAced/PosHelNSamplesd + NegHelAccO/NegHelNSamplesD - 26.010212}

600

500

400

300

200

100

0

Run 5777 quartetwise, Asyms0 (Raw): Beam ON, Laser OFF

auamstwiza baami la=® asymi

- Entrigs 14285
— Mean - 003928
n Std Daw 11.53
[ I |

—40 —20 0 20 40

HelNSamples0}/|{PosHelAced/PosHelNSamplesd + NegHelAccO/NegHelNSamplesD - 26.010212}




Run 5777 quartetwise, Difts0: All Run 5777 quartetwise, Diffs0: Beam OFF
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Run 5777 quartetwise, NegHelAccO/NSamplesQ: All
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Run 5777 quartetwise, NegHelAccO/NSamples0: Beam ON, Laser ON
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Run 5777 quartetwise, PosHelAccO/NSamplesC: All Run 5777 quartetwise, PosHelAccO/NSamples0: Beam OFF
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Run 5777 quartetwise, Sums0: All
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Run 5777 quartetwise, Sums0: Beam ON, Laser ON
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